) NUMBER SENTENCE SPIDERS

Each spider’s leg should have a calculation equal to the number
on its body. Can you find the missing numbers?

25 50 +
X 5 O O + 75
400 + 125 -
G = 10 - 400
10 x
X 5 + 30
600 +
10 x 50 +
X 3 + 80
250 -
- 20
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) NUMBER SENTENCE SPIDERS

Each spider’s leg should have a calculation equal to the number
on its body. Can you find the missing numbers?

25 x| 4

20 | x5

400 +| 4

G 1000

10 x

= 10

12

600 +

10 x [ 15

50 X 3

A 300 =+

1500

X5

v v/

120

= 10

e

125 -

50 +

50

25

+ 75

25

500

50 + | 100

- 400

10

+ 30

10

100| - 40

10 |+ 80

170

250 - |100

- 20
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